PAGE  
2

Note:  None of the numbers in the tables below are correct – they are just there to show the structure of the tables.  Also note that you cannot calculate an elasticity for this exercise if you do not have a corresponding regression parameter estimate.  Thus, you can only calculate an own price elasticity and Income elasticity for Model 1; you cannot calculate the cross-price elasticities between chicken and pork or beef.
TABLE 1
Regression Results
	Variable
	Model 1
	Model 2
	Model 3
	Model 4

	Intercept
	-0.462

(3.40)
	-0.354

(2.91)
	-0.261

(2.05)
	-0.261

(2.05)

	Price of Chicken
	-1.697

(3.48)
	-1.781

(7.56)
	-1.750

(6.04)
	-1.720

(2.04)

	Per capita disposable Income
	0.437

(9.84)
	0.438

(9.89)
	0.346

(1.59)
	0.366

(1.62)

	Price of pork
	-----
	0.325

(7.09)
	0.329

(3.38)
	0.329

(2.38)

	Price of beef
	-----
	-----
	0.141

(4.35)
	0.141

(0.35)

	Price of substitutes
	-----
	-----
	-----
	0.073

(4.02)

	F-statistic
	8.64
	9.34
	9.44
	10.22

	R2
	0.801
	0.845
	0.867
	0.889

	Adjusted R2
	0.781
	0.820
	0.841
	0.856


Note: Numbers in parentheses below the parameter estimates are absolute values of t-ratios.

TABLE 2

Elasticity estimates

	Variable
	Model 1
	Model 2
	Model 3
	Model 4

	Own Price elasticity
	-1.111
	-2.222
	-3.333
	-4.444


	Income elasticity
	1.111
	2.222
	3.333
	4.444


	Cross-price elasticity with pork
	-----
	2.222
	3.333
	4.444


	Cross-price elasticity with beef
	-----
	-----
	0.333
	0.444

	Cross price elasticity with subs
	-----
	-----
	-----
	0.444


Note:  Suppose Pc=126 and Qc=250.  Then own price elasticity for Model 1 is calculated as  Ep= -1.697 x [126 / 250], which equals -0.855.  
So, this own price elasticity is inelastic.  Remember that income elasticity and cross-price elasticities have their own, different interpretations.
































































